The 22 words fall into 5 disjoint components : {feg, fegw, Y, UJB(CT, ATHT, HTfoH, AdT, 135, SHAT)

(Farea, 28

{(AH®, 9H®}

(&farr, foHss, @33)
(Tur, uret, €9ur, 989, FIeld, 379)

However each component is a tree -- there is no closed loop in it -- so the first Betti number is zero!

Added Sunday, Nov. 10, 2013: Alas, the solution in today’s PT is not an exact match! Only one word is different :
instead of my I5J (rudder) there is I37J (radar), but doesn’t the former answer 18 Across better? It controls
aircraft, while the latter detects and tracks them. Besides, | did not always use the preferred Punjabi spelling : my
Eﬂﬁ—d’ is Hindi, it is B—U’Eﬂ—d in Punjabi — and for a Karanbir to forget this is bad! — and my HTfgH is more Hindustani,

in Punjabi 9 is best. (But isn’t fdH™&3 - forced on us by&'ﬁl?—l‘r— also Urdu, in Punjabi shouldn’t it be TH'&3 ?)

Most educative for me in this puzzle was 2 Down : | had forgotten all about Samman and Moosan ...



